ni= T = {{Exp[B* (J)], Exp[-B*J]}, {Exp[-B*JT], Exp[B* (J)]}}

out1l= {{e‘m, e’JB}, {e’JB, eJB}}

n@:- Eigenvalues [T]

out[3l= {e"”j (—1+e2‘j5) , e P (1+ez‘]5)}

4= Eigenvectors|[T]

outa= {{-1, 1}, {1, 1}}

5= U = Transpose [Eigenvectors[T] ]

ousl= {{-1, 1}, {1, 1}}

nei:= Tdi = Inverse[U].T.U // FullSimplify

ousl- {{28inh[J B], 0}, {0, 2 Cosh[J B]}}

n7i= Tr[Tdi] // FullSimplify

ouz= 2 e’ P

ine= Tr [MatrixPower [Tdi, n]] // FullSimplify

ouig- 2" (Cosh[J B]™ + Sinh[J 5]7)

no= 8= {{1, 0}, {0, -1}}
oug= {{1, 0}, {0, -1}}

o= Tr[S.U.MatrixPower [Tdi, n]. Inverse[U]] // FullSimplify

outtol= 0



